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Question 2

A={10-3q bozemgde dotrtyogo Gopbggdel Lodeogemg}

B={4-39 3900 39b¢)0 Go3bggdel Loderogemg}

Select one:
a. 3
b.5
c.4
d. 2

Question 3
0800(4)8585 36)0) 3080m8@b. 8080)0)30@30) 3@0[}03360 o@BommBo 0oy, GmI 3030003@88
dmbyemoe 3003600 96 dmgdohgds 5-.

Selgct one:

a.
b.
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d.

Question 4

dm393nemos ™o 3mbigbhéyme B6Hgbocn, Gmdgemms Goonbgdes 3 o 6. o 66930
39dmbgggomoc gobgds Bgéhoemo. godmmgommgo 080l demdsmmds, Gmd Bgthoemo Bogotogds
300 B&g3o.

Select one:

a.
b.

Ca

Bl = [


http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{A_8 ^ 2 - P_3}{C_5 ^ 2} 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= n(A \cap B) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{2}{3}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{1}{6}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{3}{4}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{5}{6}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{9}{\pi}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{4}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{2}
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Question 5

dm3gdnemos P(A[B)=0,8 , P(jl M B) - 04 . 3o8mamgoemgor P(B).

Answer:|

Question 6

P(C)=0,3,, P(D)=0,2

G QO D @080’)330@868@0 b@maowmbaboo

Answer:|

Question /

9600 3080000l gogmEgdol (30030 gobgoboemmor brmBommmdgde: A={3mgacs 305360 4 56 53},
B={8mgoc0> (3003650 2 96 6}, Gm8gemo bromdormmds 1bws sgommm, Gmd A o B
bomBoemmdgdcsb gemo 30g00maen bermBoemmdoms byemo Lobggds.

Select one:

a. E={8mgoco 303650 1 o6 3}

b. M={8mg0c0> (3003650 2 56 3}

C. K={8mg0000 (3003650 3 56 4}

d. C={8mg0c05 (3003650 3 56 6}
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€. D={8mg0c0> 3053600 1 o6 5}

Question 8

LoBymddo dootobgl gérmo o 0gogg olvbgemgdol 200 ybeyéo o 300 sgocmmdogo
Bo68mgdol ghome. Semdocmmdd 080bd, HMI Yi3bmeo Boé8mgdol ghome Lsbrostimemos séals
0,9, bexemm segecmmdtago Bodmgdals 30 - 0,8. LsBymdosb dg8mbgggom 3go6Bagl oghoemo.
393mmgoemgo 030l SeMddMMBY, B™3 gb ghoemo bhobroGhnmos.

Select one:
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C.

3
d. 5
Question 9

LedghEronem ommbal dmbghol 93wg8gb mmbigé. godmmgommge 0dal semdommdy, GmI Loogolyéo
dmgo mE396.

Answer:|

Question 10


http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \frac{1}{12}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=P(A \cap B)=0,4
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=P(C)=0,3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=P(D)=0,2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=P(C \cap D)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{23}{25}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{2}{3}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{21}{25}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\frac{3}{5}
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@880@363@ 100 QSOOQ)HO bOoGQoéon@ Q)Sooqmoo 6)0(‘0@?86(’060 odssbo 060603@86 87-ob ()
060’33363[) 96-0ls. 30b3bo Q008683o@3m 8dndols 338@03 mmbo Boq_géob bo%nb@ooo. ( CD(-X )=-

d(x), ®(1)=0,3413, ®(2)=0,4772, ®(2,5)=0,4938, ®(3)=0,4986).
s06Bogo gémo 3oliybo:

Select one:

a. 0,971

b. 0,8185

c. 0,8929

d. 0,8786

Question 11
30)888'3@00 QObsé’SOU@O OOBOb f 3880)538300)0 bﬂ@n@ob 606060@860.
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Select one:

a. 0,2

b. 0,1

c. 0,6

d. 0,01

Question 12

1By3960 odob € 3g80bggg00m0 boacol 3065Bomgdol
| O,

Fe(r)=(2"....4<z<14

loceoox > 14

qudBooo

393mmgomngo Ff (T) .

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\xi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\xi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F_\xi(x) =\begin{cases} 0..........x\le4\\ \frac{x-4}{10}......4<x\le14\\ 1..........x>14 \end{cases}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F_\xi (7)

